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1.1 Screencast

0000000000000 000OU00O0OU0DOU0DOUDOUODOOD statements-manager ] 0000000
000000000 O0oO0O0D HTIMLOODOODOOOODOODODOODODOODODDOOOOOOoOoOoDOoooooon
constraints.hpp 00000000000 OODOOOODOOOO
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1.2 00

121 0000000000 OOOOOO0O0OOO
goooooooooOOoOO0OO0O0O0D000 problem.toml OO0 OOOOOOOODOOOOOOOOOODOOOOO
gboboooooboobooboboboboooogo

statements-manager 0 00 000000000000 0O00O0O0O constraints.hppOOOOOOOOOOOO
ocooooooobOOoOoOoOoobOOoOooOOobOOoO0DOoOobOOOoOoOoOoO0 ObOobOoboOoDOOoOoOoO0bOooDOoOooboOoD
O0DO0O0O0OD00O0 DOOstatements-manager 100 000000000000 O0ODOQCODOOOOOOOOOOO
00000000000 0000000000000000000000000d

oo obobbobbbobbbobobooooooo
«JO00D00DOODO0ODOOOODODO
e problem.toml 0 0 0 0

e problemset.toml 0 0 0O 0O

1.2.2 GoogleDocs I 000 /000000000 OOOOOO

0000000000000 00DC0O0D0COGoogleDocs00O0O0O0OODOOOODOOOODOOOODOOOD
goboobobooboobbooobuoobboooboobbooboboon

Google Docs 0000 DOOO0OOOOODOO0ODOOOUOODOOODOOUODOOODOOODOODOOOOOOD
ggobooboboooooooboboboo ooobbbooobobobbooooobDb bbb Dbbbooooo
oboobooooo
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Problem

Statement

However, not all instructions are possible to carry out. Now we call an instruction which
meets either of following conditions “impossible instruction”:

- When Mon harvestsharvest apples, the amount of apples exceeds the capacity of that box. proposed replacement

- When Mon tries to ship apples, there are not enough apples to ship. tautal
sutaj
) ) A . @ 10548
Your task is to detect the instruction which is impossible to carry out.
Wit ‘harvests & (harvestsy IZ

### Input
proposed addition

tsutaj
1:06 58

B0

Input is given from standard input in the following format.

$NS
$c_1% $c_2% $\cdois$ $c_NS$
$Q8%

showing unresolved proposal
(they are ignored in rendering)

1.2. OO
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21 000000000000 ODOOOO0O

ooooooooooobooobooooboooooooooooooboooo

$ pip install statements-manager
$ git clone https://github.com/tsutaj/statements-manager.git

$ cd statements-manager

$ ss-manager run ./sample

ss-manager run ./sample 000 00000OHOOOOOODODOOODOOODOOODOOO Sss-outO0O0OdoOad
OO0OHTMLOOOOOOOOO testsO0000O0O000O0O00O0OOO0OOOOOODOOOODOOO

HOOOODOO GoogleDocs 00 DODODOOOOOOOOOO HTMLOOOOOUOOUOO Google Docs API 0
Jjooo0oopoo00oo0dU0ooOOo00OHOOOOOOO HTMLOODOOOODO

0000000 HTMLOOOOOOOOOMarkdownO PDFOOO0O0000000O000O0O0O00O0OOOOO
U -o,--output U0 OO00O0O0OOOOO

# generate Markdown files

ss-manager run ./sample -o md

# generate PDF files

ss-manager run ./sample -o pdf

000 -p, --make-problemset 10 0000000000000 DOOCO0ODODOO0ODOOOODOOOOOOOO

# generate problemset PDF

ss-manager run ./sample -o pdf -p
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22 000000000000 OOOOO

coooooooooO0obooOobooOoOoOoOoOoOoOobOOoO00obObocOoOoboOoOoOoOoDOOoOoODOonOa

0000 oo A0 BOOOOUOOOODDA4+BOOUOUOOOODODOOUOOODOOODOOOOOOOOO
goooooboobooboboooboboboooobooooboobobobobDoobobobLD Uoooo
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221 00o0o0ooooOd

0000000000000 0000 Markdown OO OO statement.md 0000000000000 @EOO
Mathlax OO O0OOOOODOOOODO0O)

### Problem Statement
You are given two integers $A$ and $B$. Print the calculation result of $A + BS.
### Input

Input is given from standard input in the following format:
$A$ $BS

### Output

You have to output the calculation result of $A + B$ to the standard output.
### Constraints

- $1 \leq A, B \leq 1049%

### Sample Input 1

35
(00oooooo)

8 020 00000000



https://github.com/tsutaj/statements-manager/tree/v1.7.8/sample/A
https://github.com/tsutaj/statements-manager/tree/v1.7.8/sample/A
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(ooooooooo)

### Sample Output 1

### Sample Input 2

10000 100

### Sample Output 2

10100

OO0 Markdown 00000000 OOOOOOO

«00 A BODOODOODODOODDOODOODOODOOD A, BODOODOO 10°00 10000
oobooooooboooobooobooooooOooooboooooOoobooOoooDOoOoOobooOoOoOooon
gobooooooooooocooooooboooon

JO00OO0O0O0O0O0OCOOOOOODODOOOOOOOODODOOOObOOOOOOOOOOOODOOD
boooooooboobdobobooooooobodobooooooobobooooobooooboboOoonn
ooo

000000000000 D0Ostatements-manager J 00 000000000000 0O0O0O0O

222 0000000000000 OOOOODODOO

OO0O0O0D0O0000O0OO0ODO00OO0O0ODOO0O0O 10D000000D0O0 e0_sample_00.inO000O00O 100
OO0000000 00_sample_00.out D00 O0O0O0O0O0O0OOOCOO2000000000 00_sample_01.1in,
00_sample 0l.out O OOOO0DOOOO0DOOOO0DOOOO testsO00DO0OO0O0OOOOODODOOODOOODO

0000000000000 0000O0000O0O00DO0O0000O0000O0d problem.toml OOOODOOO

22. 0000000 OUOOOOOUODOOO 9
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# problem id (it is used for the name of output html file)
id = llAll

# output params

params_path = "./tests/constraints.hpp"

# path to statements

[[statements]]
path = "./statement.md"
lang = "en"

# write constraints
[constraints]

MIN_AB =1

MAX_AB = 1_000_000_000

Oo0ooo0ooOooo0ooooOo0oOoooOb000o0oDOb0000oO0OO0O0000DO0000 statement.md 00O
ooooocoooood

### Problem Statement
You are given two integers $A$ and $B$. Print the calculation result of $A + BS.
### Input

Input is given from standard input in the following format:
$A$ $BS

### Output

You have to output the calculation result of $A + B$ to the standard output.
### Constraints

- ${@constraints.MIN_AB} \leq A, B \leq {@constraints.MAX_AB}$

{@samples.all}

10 020 00000000
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gogbodb ooboooboobbooboobboobooboooboobooobo

cooooooooooooooooooooooooooooooooo oKkOOoOo

problem.toml
statement.md

tests/

F— 00_sample_00.in
F— 00_sample_00.out
F— 00_sample_01.in
L— 00_sample_01.out

223 00000Ooooooooooo

gobo0o00bo00dDbDstatements-manager 000 000000000000 0000O00O00O0O0O0O00OO0O0O
gbobooooooooogo

‘$ pip install statements-manager ‘

OOOOCOOOO problem.toml OO OOOOOOOOOOOCOOCCOODOO

‘$ ss-manager run ‘

0000000 ss-out/A.html OO OO0 O0O0000O tests/constraints.hpp OO0 D000 000O0O0O0OO
oooo

ss-out/A.html 000 0000000000000 0D0O0O00O0OO0 HTMLOODODOOOOO

22. 0000000 OUOOOOOUODOOO 11
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You are given two integers A and B. Print the calculation result of A + B.
Input
Input is given from standard input in the following format:
AB
«1< A B<10°
Output
You have to output the calculation result of A + B to the standard output.

Sample Input 1
35

Sample Output 1

Sample Input 2
10000 100
Sample Output 2

10100

tests/constraints.hpp 00000000000 C++000000COCODOOOODOO0OO0O0O00O0O00O0 OO
gboboooooboooboooobobobobooooooooobobobobobobooooobooo

12 020 00000000
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HREENEN

statements-manager 1 0 000000000000

$ ss-manager COMMAND [OPTIONS] [ARGS]

gobooobobgo comMaN DO Doonooonon

3.1 run

‘usage: ss-manager run [-h] [-o {html, md, pdf}] [-p] [-f] [-c] [working_ dir]

0000 Markdown OO 0000000000000 00000O000O00O00O00O00O0OO00O0OOOO0OOO
oooboooooboooobooboboooooobooooooo

311 00000

working_dir
gddddooooooooooooobobobobobooboboboodddddooooooooooooO
gooooooooo

working dirO00000000000O0O0DOODO problem.toml OODOOOO0OO0COCOOOO0O0O000O0O
ooo

-0, --output

0000000000000 000000000000 html,md, pdf 000000000000

0000000000000 000000hml 000000000000 O000ODOO0D0OO
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-p, --make-problemset
gooooboooooooooooooboon -o, -~output 00000 oooooooooon
-f, --force-dump

oobooooooOoooobOoOoobooOoOoOooOooOoOobOboOoOoobooOoo

gogboobobooboobbooboobobooboobbuoobboobbooboobbooboOon
goobobooooo

Tip: statements-manager ] 000 0000000000000 000O00O0O00O0O0ODOO cache.json
gogbooobobooboobboobooobooboobboobboobboobboobbooboOon
ooo

-c, --constraints-only

oobooooooOoooO0obooooboo0oOoOoOOoO0oOoOOoO0OobOOoO0oOobOOoOO0ODObOOObOOOOOoOn

-h, --help
O00oooooogooogoo

312 000

oooooooooooon

§ ss-manager run ./problems -o pdf -p

coooOooooocoobooooooo
e /problems OO0 0OO0OOO0O0O0O0O0O0O0O0O000O000O00000O0O
s PDFOOOODOOO

«O0000O0C0O0ODOO

gobooobobooboobbooboobbooboon

14 0300000
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3.2 reg-creds

‘usage: ss-manager reg-creds [-h] creds_path

Google Docs 0 APIcredentials 00 0000000000000 Google Docs API0 0000000 OOOOO
ggo

OO: GoogleDoes 10 I ODO0OD0OUIOODOOOOOUOODOOOUO APIcredential 0000000
oo oooooooooobobbobbobbobbobbbodddgoooo

3.2. reg-creds 15
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0 40

Google Docs API O 0000000

O0: GoogleDoecs 000000 ODONODODODODOOOOOOOOOODOOODOOOODODODODODOOO
oooooobooooooobooboooobooboono

00000000 WORKING. DIROOODOUDOOODODOOO credentialls 000000000000

@oogle Docs - Quickstart 000 DO OO0OOOAPIOOO0OO0O0OOO0OO0OOOOOOOOOOOOOOOO
gbobooooooobooboboo

- 0000 DocsOO0O0O0O0O0OOOOOCOOOOOO0OOOOOOOOOOOOOOOOOOOOOD
oooboboooobooooooboooooooooDo

* Google Cloud Platform O 00000 APIODOOOOD 00000000000


https://developers.google.com/docs/api/quickstart/python
https://console.cloud.google.com/
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Google Cloud Platform & statements-manager ¥

© »
a0
&

e JOvx
¥~—Twhk7TLTR pinb el

statements-n

@

B HxEL JO¥x vk
APT v H—p ctatamants-n
APl £ H—FE 2 >

Hwiraifi—F 2k
T HE—Fk > S4T5 63
O 1AM rEE > .

OAuth R EEE
® FRAEEBTS WV Rgp— 72
M 751702 R—SOERIZET 328

& UIV—2

W EFaUFq >

— M-

mOo0000 OAuthOOOO0OODODO0OOODODOO0ODOODOOJSONDODODODOODODOODODOOOODOOOO
coooo

- 00000C0CO000C0CO000000000 CREDS_PATHOOODOOOO

18 0 40 Google Docs APICD OO OO0OOO
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APT APl ¥H—E2 SRGEER + RERREEE W AR
@ Hyvam-k BB AP 2 LR T BLOORIERBENRLET, 28
o 3175u
APl ¥ —
on  RIEAH
O =i A 4 IR %
¥ OAuth AEEE FTT3APIX—DBDEEA

I X1 R
OAuth20 2 >4 7>~ 1D
S R-VORMIETERN

O =i a4 ] 954F+ID

O  statements-manager 2020/00/12 FAO kT I - ’
H—EXT7HUV $—E2 7Ny R EEE

O x-u E

ERTBY—ERA TNV N BDEEA

statements-manager

PZ1FFID

I T

PFAFLR =2 Lw b

I, T

¥ JSON 42 >O—F

OK

PEO00000000000JSONOOOOOOoOoOn

- 0OO0O0O0D0CO0 CREDS_PATHO OO jsonO0000O00O0O0O0OOO0OOOO

- JSONOOOO0OO0O0000000000000000000000 .ss-manager 0000000
oo

$ ss-manager reg-creds CREDS_PATH

19
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050

oot

OO0O0O0O0GoogleDocsOOOOODOOODODODODO MarkdownOOOOOOOOOOOO

oo00o0ooo0o0ooo0oo0ooo30000000000000000

$N$ $M$
$u_1% $v_1$
$u_2$ $v_2%
$\vdots$
$u_M$ $v_M$

gL bbb bbb O
oboboboooooooobo oobooooooooo bobooooo

{@constraints.<CONSTRAINT_NAME>}
0000000000000 00D0DD0OO0O0DO0DOOOO <CONSTRAINT_NAME> O problem.toml O
[constraints] 0000000000000 DOOOOOOO

{@samples.s<NUMBER>}
OO0OO0OC0OO0O0O0O0ODODOO0ODODOOOO<NUMBER>O DO (leading-zeroO OO O OO)0D00O0OODODODOOO
0000000000000 0000oo0o0oOo00o0O0ooOoOobDo0o0o0ooOooOoOobOobOo0oOoO0O0o0 1,23, ..
0000000000000 D0000000D0D0ODO0OO0DOoO0ogd e0_sample_00.in, 00_sample_00.out,
00_sample_00.md, 00_sample_01.in, 00_sample Ol.out 0 500000000 00_sample_00 0 10
00 00_sample_ 010 200000000

{@samples.all}

problem.toml 0 sample_path OO0 0000000000000 OOCOOOOOOOOODOOOOOOO
oooooooooog



https://github.com/tsutaj/statements-manager/tree/v1.7.8/sample
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gogbooobbgooboobbooboooboobooobobooobo

22 0500000000
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060

problem.toml O 0O 00O

OOO0OOOO0OO0O0OO00000000000d problem.toml OOOOOODO

Tip: RmeJOODOODO0O00O0OOO0:0000000 RmeOOOOOOO PROBLEMOOOOOOOOOO
U000 PROBLEMODUODODODODOOOOOOOODO

goboodoboboobooboobbooboobb bbb bboobooo

id = "A"

params_path ./tests/constraints.hpp"

assets_path = "./statement/assets/"

sample_path = "./tests/"

ignored_samples = []

[[statements]]
path = "./statement/statement_ja.md"

lang = "ja"

[[statements]]
path = "./statement/statement_en.md"

lang = "en

[constraints]
MIN_N = 1
MAX_N = 100_000
MIN.M =1
MAX_M = 100_000
(000oooon)



https://github.com/tsutaj/statements-manager/tree/v1.7.8/sample
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(ooooooooo)

MIN_D
MAX_D

0
2_000_000_000

oobooooooooobocoooog
id
oooooooon

goOmbooboobooooo ibobooooboooooobobobobooooobDobDOobOoDbo

IDOO00O00O0O0O0OO0O000O0OO0OO0O0O00O0OOCO COoO0oOoOooOoOoOoOoO0OooODO0O id = A"
ooobooooobooooboooooooooog

assets_path

oobooooooOoooobooobooOoOoooOoOoOoOoObo0oOoboOoOoOoOoOoOoOoOobOboOoOobOOoOoOooon
ooooooooogd

assets_path 00000000 D0OD0O000ODODOO0O0O0O0O ss-outd0 000000 assetsOd0O0O
0000D0o0oo0oo0oooooooooDooooooooooooooooooooooooooag

Tip: 0000000000000 0000OO0 problem.toml D000 O0000O0OOOODOOO

sample_path

ooooOoOO0O00000000oooOoO0OO0O00O0000O00OOoOoOOOO0ODOO0OO0O00000Oproblem.
toml OOO0OD0OO00D0O0O testsOO0O0O0OO0OOOOODOODOOO

ooboooooboooobooobooooooooooboooooooooooooooooobooOoooon
oooooooooooboooooon

0000 .in/.out/ .diff/ . mdOODODOODODOO
- .in0000:0000000000O

.out/ .diff0000: 0000000000

mdO0000:000000000000000000D00 (sample000000ODOIDO0O0O0O)

[DO0O0]/*.md0000: 0000000000 (sampled 000000 AODODOOO)

x0: 000D 00_sample 0 000D D0 D000 O0DODOO [sample_pathl/ja/
00_sample_00.md 00O O0OCODO0OO0O

000000 sample0 000000000000

24 0 6 0 problem.toml00 00O
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ignore_samples

sample_path 000000000000 OOOCO0OOOO0ODOODOODOO0OOOOOOOOODOOOO
gboboboooooooobobobobooooboooboobobobobobobooooooDo
gogboobobooboobboobooboobbooboobboo

ooo0oOoOoooog UnixOOOoOooOOoOoooooooDO oooboooo

000 00_sample_00 0 OO 00_sample_hoge DD DD OIDODOODOOODODOOODO ignore_samples =
["00_sample_00", "O0_sample_hoge"] DO ODOOOOOO0O
params_path

ODO00O0OO0O0O0OOOoOoOoOoOoOoOOgeneratord validator DO OO OODOODODOOOOOOOOOOOOOO
obobobooooooooboobobobooobobooooooboboboboboboooooDo
good

oboooooooooboocOoobooOooboooooboooooOoooag

O0: D00 C+ 0000000 (.cpp, .cc, .h, hpp) OOODODOO0O0DOD0O0ODODOOODODOOOO
oo

[[statements]]

ggooooogn

Oo0000O0o0o00ooOO000O00O000000b0000D000000 sampleO0 00000000 ADO
oocooopooopoopoooo

- 0000 AO0O0OOOOOOOOOOOOOOOOOOOOOOOOOOOOO

0000 COOOODOOOOOOOODOODOODOOOOOOOOOODOOODOODOO
cooooooooooooon

obooooooooooocoobooOooono

path

ooooooooo
- J0000O0COODCOOODOO:0O0O0OCOO0OOOOOOOOOODOOOODOO

* Google Docs 10O OOOOODOODO: Google Docs O IDO DO ODOO Google Docs 0 0O OO
O URLOOOOOOOODOOOODCO OOOOOHOOOODOODODOOODO
lang

coooooo0ooOoOoobO0oOO0O00D0O00ja(@OO0)0000 en(O)0DO0O0COO0OCOOO
ooo

25


https://docs.python.org/ja/3/library/fnmatch.html
https://github.com/tsutaj/statements-manager/tree/v1.7.8/sample/A
https://github.com/tsutaj/statements-manager/tree/v1.7.8/sample/C
https://github.com/tsutaj/statements-manager/tree/v1.7.8/sample/H
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gobodboobbidb enbdgobgooboobboobboobo

mode

docsO0ODO localOOOOOOOOOOOOOOOCOOOOOOOODOOODOOODOOOODOOOO

0000000000000 000000000000000000mede 000000000OO0O
ood

[constraints]

ooooooooooo (bool =[0bolOoooooooooo

26 0 6 0 problem.toml00 00O
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O 70

problemset.toml 0 0O 0O O

coooOoOoOoHT™MLOPDFOOOOOOOOOOOOOOOOOOOOOOOO problemset.tomlOO00O0O0O
oooboOoooOo0oobo0oooo0oooooooDoOoooDoboOooDoOn

problemset.toml 0O ss-manager run 000000000 WORKING DIROOOOODOOOODOOOOOODODO
ooooo

Tip: RimeOOODODOOOODOOOOO: 0000000 RimeOOOOODO0O PROJECTHOODODOOOOO
U000 PROJECTOHOUODOODOODODOOOODOOOOOO

cooboooooocooboooOooOoOoOoooOoboOo oooobooobooobo boooooooa

[template]
template_path = "./templates/default.html"
sample_template_path = "./templates/sample_default.html"
preprocess_path = "./templates/preprocess.py"
postprocess_path = "./templates/postprocess.py"

[pdf]

[pdf.common]
encoding = "UTF-8"
page-size = "A4"
margin-top = 24
margin-right = 16
margin-bottom = 16
margin-left = 16

enable-local-file-access =

disable-smart-shrinking =
(oooooon)



https://github.com/tsutaj/statements-manager/blob/v1.7.8/sample/problemset.toml
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(ooooooooo)

debug-javascript
[pdf.problem]

javascript-delay 1000

[pdf.problemset]
javascript-delay = 10000
header-center = "Practice Contest, YYYY-MM-DD"
header-font-name = "Times New Roman"
header-font-size = 12
header-spacing = 12

footer-center = "[page] / [toPage]"
footer-font-name = "Times New Roman"
footer-font-size = 10

footer-spacing = 8

ooooooooooobooooood

[template]

template_path
HTMLOOO PDFOOOOO0OOOOODOOOOO HTMLOODODOOOODOODOOOODOODOOOO
dddddoooooooooooooooooo

0000000000000000000000 {@problem.statement} 000000000000
00000 sample/templates/defaulthtml OO0 00000000

sample_template_path
0o00o00ooooo0ooooo000 HIMLOOOOOOOOOoooooOoOoOoooooooo
goboobbooboobbooboo

OO00D0O0O0D0OO0 sample/templates/sample_defaulthtml OO OOO00O0O0O0DO

preprocess_path

Markdown OO0 0 0O000COO0OO0O0OO0 PythonODODOOO OO0O0OODODOOOQOOMarkdown O
HTMLOOOOOOOOOOOOOOoOODOODOOOOoOOoOOoOOOOOoOooDOoooboooboooboo
goboobbgoobg

Markdown 000000000000 00000O000O00O0O0O0O00OOO0O00O0ODOOO0OOOOO
O O sample/templates/icpc_domestic/preprocess.py 000000 00O

postprocess_path

HTMLOOOOOOODOOOOOOO PythonOOOOO OOO0OOO0O0O0O0OOOHTMLOOOOO

28 0 70 problemset.toml 0000



https://github.com/tsutaj/statements-manager/blob/v1.7.8/sample/templates/default.html
https://github.com/tsutaj/statements-manager/blob/v1.7.8/sample/templates/sample_default.html
https://github.com/tsutaj/statements-manager/blob/v1.7.8/sample/templates/icpc_domestic/preprocess.py
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ggoooooooooobooboobbbobbbboboobooooooooobobobbbboooooogo
good

HTMLOOOOOOOOOOOOOODOO0O0O0oO0ODOODOO000o0ooooOobOo0o0oooooooooo
O sample/templates/icpc_domestic/postprocess.py DO OO0 00 0O
[pdf]
PDFO 00O wkhtmltopdf (PDFO 0000000000 OCO0OOOOOOOOOOOOOOO)D0O00OO
0000000000 oooooog wkhtmltopdf OO OOO0O OOOOODODOO
[pd£f.common]

gooboobbooboobooobooboooboobbobobobuoobboobbooboo

[pdf.problem]
O0o00oO0ooO0ooOooOooOoo0oooooooooooooooo

[pdf.problemset]
g0o0oooooooooooooooooooooooooooooo
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https://github.com/tsutaj/statements-manager/blob/v1.7.8/sample/templates/icpc_domestic/postprocess.py
https://wkhtmltopdf.org/
https://wkhtmltopdf.org/usage/wkhtmltopdf.txt
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oobooooboooooooobooobobOoOoooOboOoOoDOboOoO0oDOOo0 Rmed0boOoOoooOOoOoODOOOOD

goboooood

--- WORKING_DIR/

|- tests/

|- statement/
|- problem.toml
|- solution_1/

|

|

|

|

|

|

| |- solution_2/
|

|

|

| |- (same as above)
|

|

(directory of Problem A)

(generator / validator / sample cases)
(problem statement, assets such as images)
(problem config file for ss-manager)
(solution)

(solution)

(directory of Problem B)



https://github.com/icpc-jag/rime
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RmedOOOOOOOO

statements-manager J OO0 00000000 RmeOOOODDODOOODODOODOODOOOODOOOODOOOO
statements-manager D0 0000000000 0ORme 0000000000000 0ODOOODO0OO0OODOOO
cooooo

000b0b0bOO0bO0bO0bO0obO0b000 RMe000O0OO0DOODOODOODODODODODODODODODOD
obobooooo

- J0I0J00C0O00OD0OD0ODDOOOOOO problemset.toml OCRimeOD O OO0O0OO0OOOOOOO PROJECT
oooboobooo

- J000O000000CO000O0 problem.toml O0ORime 0000000000 PROBLEMOOOODOO
od

- 0000000000 params_pathOORme 000000000000 O0O0O0O0O0O0O0OO00ODO tests
ooooocooobooono

ooooooooooobooooooooooOooboOooooOoa

# create constraints files
$ ss-manager run -c WORKING_DIR

# create correct sample outputs
$ rime test WORKING_DIR

# create problem statements
§ ss-manager run WORKING_DIR

statements-manager 1 000000000000 OCO00O0O0O0OO0OO0OO0OOCOCOO0OOCOODOCOOODOOOOOOO
OO0 Rme00OO0OO0D0OO0OO0DOOOO0ODOOODOOODOOOOOOOOOOOOOODOOODOOOD
oobooObooooOooooboooOoOooOooOob0oOboOoOobOoOoOoooOooOoOooDooa



https://github.com/icpc-jag/rime
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Jobobotdbobobotgtddooogdon

GitHub Actions 0 00 CIOO0OO0COO0O0O0O00O0O0OOOOOOOCOOOO0O0O0OOOOOOCCOOO0000

00000 pushOOOOODOOOODOOOODOOOODOOODOOOODOOODOO

O00D0C0000C00D0O00000 masterJ0000 pushOOODO0O ss-manager run0 00000000
OO0 pushO0OODO0OD0OD0O00O00D0OO0OO00O0O0O .github/workflows/statements-manager.yml 000

cooboooooooooon

# run statements-manager and commit/push diffs

name: update-statements

on:
push:
branches: [master]

jobs:
build:
runs-on: ubuntu-latest
steps:
- uses: actions/checkout@v2
- name: Set up Python 3
uses: actions/setup-python@v2
with:
python-version: 3.8
- name: Install dependencies

run: |

- name: Run statements-manager

(0ooooooo)
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statements-manager, 0 0 0 O v1.7.8

run:

(ooooooooo)

ss-manager run ./

- hame:
run:
git
git
git
git

- name:

Commit files
I
add --all
config --local user.email "github-actions[bot]@users.noreply.github.com"
config --local user.name "github-actions[bot]"
commit -m "[ci skip] [bot] Updating to ${{ github.sha }}."

Push changes

uses: ad-m/github-push-action@master

with:
branch: ${{ github.ref }}

36
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0110

Links

kbrary-checker-problems

- 000000000000000000000000library-cheker-problems 000000000
Oo0OOCOOO0CRmeOODOODOOODOODOOOO0O0O0O0O0O0O0O0 GoogleDocsOO0O0O0O
oooooooboOoOooooOoooooooobooooooOoooDo

Rime

- 0ooOooOobOobOobobooboOobobobocoboOoooooboooooOooooOoOoOoOooOoOoon
OoOoO0RmeOOOOOOOOOOOOOCOCOOOCOOOO


https://github.com/yosupo06/library-checker-problems
https://github.com/icpc-jag/rime
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For Contributors

Issue/PRO0O contribute 00O O0O0O0O0O0COOOOOOOOOO CONTRIBUTINGmdOOOOODODOO

39


https://github.com/tsutaj/statements-manager/blob/v1.7.8/CONTRIBUTING.md




BN

--constraints-only
oooooooooooo, 14
--force-dump
goooooooogoo, 14
--help
goooooooogoo, 14
--make-problemset
gooooooooooo, i3
--output
oooooooooooaa,13

oooooooooooo, 14

-f

oooooooooooo, 14
-h

oooooooooooo, 14
-0

oooooooooooa,13
-p

oooooooooooa,13

{@constraints.<CONSTRAINT_NAME>}

variable in statement, 21
{@samples.all}

variable in statement, 21
{@samples.s<NUMBER>}

variable in statement, 21
[[statements]]

problem config key, 25
[constraints]

problem config key, 26
[pdf. common]

problemset config key, 29
[pdf.problem]

problemset config key, 29
[pdf.problemset]

problemset config key, 29
[pdf]

problemset config key, 29
[template]

problemset config key, 28

assets_path
problem config key, 24

id
problem config key, 24

ignore_samples
problem config key, 24

lang
problem config key, 25

mode

problem config key, 26

params_path

problem config key, 25
path

problem config key, 25
postprocess_path

problemset config key, 28
preprocess_path

problemset config key, 28
problem config key

[[statements]], 25

[constraints], 26

assets_path, 24

id, 24

ignore_samples, 24

lang, 25

mode, 26

params_path, 25

path, 25

sample_path, 24
problemset config key

[pdf.common], 29

[pdf.problem], 29

[pdf.problemset], 29

[pdf], 29

[template], 28

postprocess_path, 28

preprocess_path, 28

sample_template_path, 28

template_path, 28

sample_path
problem config key, 24
sample_template_path
problemset config key, 28

template_path
problemset config key, 28

variable in statement

{@constraints.<CONSTRAINT_NAME>}, 21

{@samples.all}, 21
{@samples.s<NUMBER>}, 21

working_dir
oooooooooooo, 13

Ooooooooooono
--constraints-only, 14
--force-dump, 14
--help, 14
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--make-problemset, 13 -h, 14
--output, 13 -0, 13
-c, 14 -p, 13
-f, 14 working_dir, 13
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